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Materials which allow only a small portion of light 1o pass

through are called:

5. pomum e
B. penumbra

C. translucent

D. transparent.

. Measurement of mass using an equal arm balance lever is an

application of the principle of ig
A. conservation of energy “\
B, conservation of linear momentum r__
C. conservation of mass

D. moments.

A eurrent of 0.2 A flows through a resistor of 20 Q. The potential
difference across the resistor is: =

A. 004V L__‘!
B. a4V

C. 40V

D. 400V

'nndp:nnm:ntmapcmarcmad:upnf. |
cobalt and nickel e

C. iron and magnesium

D. nickel and silver.

A lever which has its fulcrum between effort and load s said

to be of:
A. first class

B. fourth class r_\
¢. second class

E‘Iﬂﬂm of force and displacement is known as:

A e
B.
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g, ju| Szate the folowing
f} Archimedes' Principle...

fii} Law of dotalon...---.--

2 olume D0 cm3. Wi ¢ body sink or
f A body has mass of 120 g and volume of 100 cm?. Will th _

fpat in water? Give reason for your answer

i {3} State Ohm's law.

(B} In the diagram below calculate the value of R.
—~ 2 T

| [ (v} J @1=138a

V=5V
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